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stress was explained and some broad gep,
L 0 e etve primary e i
e oo were called “simple” words; “simple” in this context means “not
of more than one tical unit’, so that, for exam;.:le, the.word Carc’issimpku
- > and ‘careless’ (being composed of two grammatncalumts&ch)areccmp]q.m
fully’“ and ‘carelessness’ are also complex, and are composed of three grammatica] yp,
each. Unfortunately, as was suggested in Chapter 10, it is often difficult to dGCidewhd,.
a word should be treated as complex or simple. The majority of English words of moge
than one syllable (polysyllabic words) have come from other languages whose way of
constructing words is easily recognisable; for example, we can see how combining ‘my
with the prefixes ‘per-} ‘sub-} ‘com-’ produced ‘permit), ‘submit’, ‘commit’ — words whig
have come into English from Latin. Similarly, Greek has given us ‘catalogue’, ‘analogue,
dialogue’, ‘monologue} in which the prefixes ‘cata-’, ‘ana-, ‘dia-’, ‘mono.’ are recognisable.
But we cannot automatically treat the separate grammatical units of other languages g
= dleywue separate grammatical units of English. If we did, we would not be able o

Which are made of two (or occasionally more) indef
cream; ‘armchair’), Jish
ctewn b affixes. Affixes are of two sorts in
@-s.preﬁx ‘un-’ + stem ‘pleasant’ "’. wnp l,a:
the stem (e.g. stem ‘good’ + suffix “0¢°

~
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s
i) The affix itself receives the primary stress (e.g. ‘semi-’ + ‘circle’ g4,
) semicircle’ 'semisa:kl; ‘.-ality’ + ‘person’ 'pa:sn — ‘Pm“‘litfs;::;;;lat')
ii) The word is stressed as if the affix were not there (e.g. ‘pleasant’ ‘pleznt %
‘unpleasant’ An'pleznt; ‘market’ ‘ma:kit, ‘marketing’ ‘mazkrtip). .
jii) The stress remains on the stem, not the affix, but is shifted to a different
le (e.g. ‘magnet’ 'magnoat, ‘magnetic’ meg'netik). _ jo

1.2 Suffixes

Mmsommysuﬁmthatitwiﬂonlybepossiblchmtoexamineasmn
proportion of them: we will concentrate on those which are common and productive — that
is, are applied to a considerable number of stems and could be applied to more to make

new English words. In the case of the others, foreign learners would probably be better

One of the problems that we encounter is that we find words which are obviously
‘complex but which, when we try to divide them into stem + affix, turn out to have a stem
that is difficult to imagine as an English word. For example, the word ‘audacity’ seems to
be a complex word — but what is its stem? Another problem is that it is difficult in some
cases to know whether a word has one, or more than one, suffix: for example, should we
analyse ‘personality’ from the point of view of stress assignment, as pa:sn + zlati or as
pa:sn + =l + oti? In the study of English word formation at a deeper level than we can
go into here, it is necessary for such reasons to distinguish between a stem (which is what
s when affixes are removed), and a root, which is the smallest piece of lexical mate-

the stem ‘personal’ which contains the root ‘person’ and the suffix ‘al’ We will
_more time here on looking at these problems, but go on to look at some gen-

about suffixes and stress, using only the term ‘stem’ for the sake of simplicity.
are referred to in their spelling form,

irrying primary stress themselves () AU11,Ex1

given, which seem to be the most common, the primary stress
of the suffix. If the stem consists of more than one syllable there
ononeofthesyllablesofthestem.Thiscannotﬁllonthelasf

if necessary, moved to an earlier syllable. For example, in ‘Japan
1 'onthelastsyﬂnble,butwhenweaddthestxeas-caﬂyms

on the suffix and the secondary stress is placed not on the
apanese’ dzzpa'ni:z-

iz ‘evacuee’ 1,vaekju'iz

1'n1a; ‘volunteer’ vplon'tio

: ‘jonmnleae’ dz3:ml'izz



nology
english phonetics and Pho |
3 ; lo:ndr'et

. rette’ |
5. €t arettc’ rSlgr‘et; lalunld(e
e ‘esque: nent
xes that do not a

L9 rtable’ 'kamfot abl

<_able’: ‘comfort’ 'khmfat::hc:::; 'zegkrid3

b 1 ‘mCho(r, .a:.;l:‘?';f jal.lll'z- ‘refusal’ I ‘fjuzzl

< 2, € > (ver 25

‘::ln;; {:nﬁ:lif ‘waid; ‘v:liden’ 'szff':ﬂ et

<l © > 'wanda; ‘won '

‘:;ﬂg;: ﬂw?ml:::’ra'mexz; ‘amazing’ 2 m:'z"-‘

<_Jike’: ‘bird’ 'ba:d; ‘birdlike’ ‘bsffllal , 8

“less’: ‘power” 'paua; ‘powerless IPauad;

“ly’: ‘hurried’ ‘harid; thurriedlY" hAl'.l .

“_ment’ (noun): ‘punish’ '‘paniJ; plll{lmaen

‘_ness’: ‘yellow’ 'jelau; ‘yellowness’ jelounas

‘_ous’: ‘poison’ 'P21zN; ‘poisonous’ 'PIIZNIS

“fy’: ‘glory’ 'glo:ri; ‘glorify’ 'glo:rifar |

‘-wise’: ‘other’ 'a03; ‘otherwise’ 'adowaiz .

-y’ (adjective or noun): ‘fun’ 'fan; ‘funny’ 'fani )
‘Y’isga’ 1:1 the case of adjectives does not affect stress placement: ‘devil’ 'dev
; ‘devilish’ 'dev]1f; however, verbs with stems of more than one syllable a
L have the stress on the syllable immediately preceding ‘ish’ — for 3e

;t' ‘replenish’ r1'plent/, ‘demolish’ dr'mpl1J) -

' >

o%
i‘inmj uffixes that influence stress in the stem
= .

- In these examples Primary stress is on the last syllable of the stem.

) Auly, ;

® ‘-eous’: ‘advantage’ ad'vaintidz; ‘advantageous’

y = > us

" . ‘-‘81'aphy’: photo’ '‘favtou;

- ® ‘“-ial’: ‘proverb’ 'Prova:b;
\. .‘..m?.

; ,aedvan'teld3as
; phott':graphy’ fa'togrofi
P b Proverbial’ pra'va:bis]
@m l'dalmat; ‘climatic’ klar'maet 1k
atiad .pazkat;. ‘Perfection’ pa'fekfn
‘tr:jm _ Md33; ‘injurioys’ In'd3uorios
quil 'tregkwll;

o el i tranquiliny treegrkwrtor;
= reflex’ rizfleks; reflexive’ ri'fleksyy

ag__[ ) Fiﬂnla“y’ When the sumxes <

. stems, the i “ance’ “-ang = -
i LWhen e stress is almost always placeq on and “-ary’ are attached to single-s

t:ll: e (ejs- ‘Buidance’, ‘sealant’, ‘diet:
€ Stress is on one of the syllables in |
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the syllable before the last one receives the stress: ‘inheritance’ mn'heritans,
‘mulitri.

. will look only briefly at prefixes. Their effect on stress does not have the com-
regularity, independence and predictability of suffixes, and there is no prefix of
o syllables that always carries primary stress. uen

o say that stress in words with prefixes is governed by the same rules as those
abic words without prefixes.

d words () AU11,Ex 4

‘words discussed so far in this chapter have all consisted of a stem plus an affix.
on to another type of word. This is called compound, and its main charac-
it can be analysed into two words, both of which can exist independently
s. Some compounds are made of more than two words, but we will not
As with many of the distinctions being made in connection with stress,
uncertainty. For example, it could be argued that ‘photograph’ may be
independent words, ‘photo’ and ‘graph’; yet we usually do not regard
t as a simple word. If, however, someone drew a graph displaying
n about photos, this would perhaps be called a ‘photo-graph’ and the
ded as a compound. Compounds are written in different ways:
tten as one word (e.g. ‘armchair’), ‘sunflower’); sometimes with the
/phen (e.g. ‘open-minded’, ‘cost-effective’); and sometimes with
pace (e.g. ‘desk lamp’, ‘battery charger’). In this last case there
the fomgnleamerthatthepmrofwordswasmbemtedas
r dividing line between two-word compounds and pairs of
- together quite frequently.
the question is quite simple. When is primary stress

e given, although these are not completely reliable.
‘mdls vhich combines D nouns and

_element, as

er compounds;
element. The first
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secondary stress. For example, com
ed morpheme at the end have this patter, (- Wiy

OompoundsinwhichtheﬁrstdcmentiSOn“mb“i“”mefoma]”tendmhln
m. :
,three-' wheeler

g ..seoond—'dm

- five- finger ;
"undsfuncﬁoningasadverbsareumll}'ﬁnﬂ'm””d:

~,head first
) l“.‘;‘le"M

down' stream

; m - q..‘. _~ y for one of two reasons: either as a result of the |
1) tofm. SOIT m!d&mﬁm i

_ .S case is an aspect of connected
encountered again in Chapter 14: the main effect i
y is that the stress on
" mt‘, move to z ,)k_._.|>: s LL' - a1 hange to._secongdar)

begins with a strongly stressed syllable. Thus (using some

SCCtion ):

IC_WOrd in q \,-_«111 N, Or because not all speake!

but  a bad-tempered 'teacher

::z a ,hﬂf-ﬁmbe!ed 'house |
a heavy-handed 'sentence |

- serious prob 2

example is oorm’ o "w;l:hd.mt foreign learners should be “"'::

: ‘ 7> Which is pronounced by some speakers

and one incorrect. Ottlrx::-’os" ‘twhmm&ymtonem@ﬁ

LT €xamples of different possibilities are ‘ice crea™
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(either ,a1s krizm or ‘ais krizm), ‘kilometre’ (either ki'lomits or 'kilomi:ts) and ‘formidable’

('foxmldabl or fo:'midabl).

O AUl Ex s

One.spectofwoxdstmsubestuutedasaseparatcmue.mmmmﬂdm

strac ‘zbstrazkt (A)
conduct ‘kondakt (N)

‘contract ‘kontrzkt (N)
contrast ‘kontra:st (N)
desert ‘dezat (N)
‘escort ‘esko:t (N)

‘ekspo:t (N)
‘tmpo:t (N)
“msalt (N)
‘pbdzekt (N)
‘pa:fikt (A)
‘pa:mit (N)
‘preznt (N, A)
‘prodjuzs (N)
‘pravtest (N)
‘reb] (N)
‘reko:d (N, A)
‘'sabdzekt (N)

and further reading

d in the notes for the previous
umwd&uhmrﬁn:eadlngl‘udge(lm
242-—5).lfyouwnhtogomoredeeplymw
mundynnglnhwmdﬁ)rmauon.neoommended
ﬂ:cdisuncﬁonbetweensmmandmot,seelhdford

with identical spelling which differ from each other in stress
.ppatenﬂyaocotdmgtowotdchu(noun,vuboradm) All appear to
+stem.Weshalltreatthemasaspeaaltypeofwordandmthem

\ ﬁ:nowmsrulenfapauofpteﬁx-plu&sumwonkmbothmembemofmm
ﬂmually,oneofwhu:hmavubmdtheotherofwh:chuaﬂ;;ranonnorm

zb'strzkt (V)
kon'dakt (V)
kon'traekt )
kon'tra:st (V)
di'za:t (V)
1'skoit (V)
1k'spo:t (V)
m'po:t (V)
m'salt (V)
ab'dzekt (V)
pa'fekt (V)
pa'mit (V)
pri‘zent (V)
pra‘djuzs (V)
pra'test (V)
ri'bel (V)
ri‘ko:d (V)
sab'dzekt (V)

is relevant






